/S KWIKGOAL

ASSEMBLY INSTRUCTIONS FOR 10B6401 GOAL DOLLY

*GOAL DOLLIES MUST BE USED BY A MINIMUM OF TWO QUALIFIED PERSONS*
1. Unpack all parts and check for damage that may have occurred during shipping. If damage has occurred,
notify Kwik Goal immediately. Lay out all parts. Remove all cardboard and packaging immediately. Wet or
damp packaging may damage contents.

2. Read through entire instruction before beginning assembly and installation.

NOTE: Components may be packaged in one or more additional boxes.

Parts

Dolly Plate (3) Wheels (9) Goal Hold Down (3)
(Part#Vz879) (Part# VZ878) (Part# VZ881)

Dolly Strap (3)
(Part# VZ877)

*EECAUTION***

All sports equipment must be anchored at all times. Sports equipment not in use must be disassembled and
stored in a safe, secure place. Assembled sports equipment should not be left unattended. Do not use this
equipment during the threat of high winds. Sports equipment should be checked for safety on a regular basis.
Any modifications to this or any Kwik Goal product will void any and all warranties.

140 Pacific Drive Quakertown, PA 18951
800-531-4252 Kwikgoal.com
© 2020 Kwik Goal Ltd. NZ463 Rev. 09/23/20



Assembly Tools

13mm & 14mm Wrench Ratchet with
13mm & 14mm Socket

Hardware (Part# J7280)

M8 X 30mm Hex Bolt (36)
M8 X 65mm Hex Bolt (3)

M8 Flat Washer (36)
M8 Lock Nut (39)

3. Pass hex bolt through dolly strap and secure bolt with lock nut as shown. Temporarily remove the cam buckle
and set aside for later assembly.

M8 Lock Nut

Dolly Strap

-

M8 X 65mm Hex Bolt

**XCAUTION***
All sports equipment must be anchored at all times. Sports equipment not in use must be disassembled and
stored in a safe, secure place. Assembled sports equipment should not be left unattended. Do not use this
equipment during the threat of high winds. Sports equipment should be checked for safety on a regular basis.
Any modifications to this or any Kwik Goal product will void any and all warranties.
NZ463 Rev. 09/23/20



4. Place bolt end of dolly strap into rectangular well of dolly plate as shown. Feed excess dolly strap through slot
then mount wheel as shown below.

Dolly Plate

PR\

@
&

***CAUT
All sports equipment must be anchored at all times. Sp

l

‘\v—g‘w!

@
Q

Bolt and nut must
sit flat on dolly plate

i

\y
|/

Dolly Strap

M8 X 30mm Hex Bolt

M8 Lock Nut

/N
N
-\

N

ION***
orts equipment not in use must be disassembled and

stored in a safe, secure place. Assembled sports equipment should not be left unattended. Do not use this
equipment during the threat of high winds. Sports equipment should be checked for safety on a regular basis.
Any modifications to this or any Kwik Goal product will void any and all warranties.

NZ463 Rev. 09/23/20



5. Attach remaining wheels to dolly plate as shown below.

M8 X 30mm Hex Bolt

M8 Lock Nut
M8 Flat Washer

Dolly Plate

Wheel

6. Feed the dolly strap through the goal hold down and

Dolly Strap re-attach the cam buckle as shown.

Goal Hold Down

***CAUTION***

All sports equipment must be anchored at all times. Sports equipment not in use must be disassembled and
stored in a safe, secure place. Assembled sports equipment should not be left unattended. Do not use this
equipment during the threat of high winds. Sports equipment should be checked for safety on a regular basis.
Any modifications to this or any Kwik Goal product will void any and all warranties.
NZ463 Rev. 09/23/20



7. With two people, lift one post and place base of goal on dolly plate, approximately 1/3 of the goals total side
distance from the post. With goal hold down centered on top of base secure using dolly strap catch at the
smaller rear opening and pull strap tight as shown. Repeat for opposite side of goal. Lift with proper
technique to avoid injury. Use features on goal to prevent dolly from sliding when in use. Examples: anchor
plates, net clips, etc.

U

\

D Catch

Bottom View

8. With two people, attach dolly at the center of the rear crossbar with same method used to attach to side bases
of goal. Lift with proper technique to avoid injury. Use features on goal to prevent dolly from sliding when in
use. Examples: anchor plates, net clips, etc.

*EECAUTION***
All sports equipment must be anchored at all times. Sports equipment not in use must be disassembled and
stored in a safe, secure place. Assembled sports equipment should not be left unattended. Do not use this
equipment during the threat of high winds. Sports equipment should be checked for safety on a regular basis.
Any modifications to this or any Kwik Goal product will void any and all warranties.
NZ463 Rev. 09/23/20



9. Move goal with one person at each post, for best results push or pull at a diagonal.

PUSH OR PULL
AT A DIAGONAL

[

Person at Post —

Person at Post ——

PUSH OR PULL
AT A DIAGONAL

Go to Kwikgoal.com for additional product information.

***CAUTION***
All sports equipment must be anchored at all times. Sports equipment not in use must be disassembled and
stored in a safe, secure place. Assembled sports equipment should not be left unattended. Do not use this
equipment during the threat of high winds. Sports equipment should be checked for safety on a regular basis.

Any modifications to this or any Kwik Goal product will void any and all warranties.
NZ463 Rev. 09/23/20



	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6

